Bollard R-7539-B

14 3/4

@6 1/2

@5 7/8

@8 1/2

@10 1/4

1/2

27

1/4

Installation Sample
with 5/16" Chain Accessories

3/4

Bollard Chain Eye 3/8"
(Powder Coated)

Quick Link Connector 5/16"
(Powder Coated)

Optional Accessories:

O Chain Eye

O Quick link

O Chain (5/16")

O Padlock, Brass (1 3/4")

O Padlock, Stainless Steel (2")

See Reliance Foundry's optional accessories at:

Bollard Chain 5/16"
(Powder Coated)

www.reliance-foundry.com/bollard/accessories-bollards

General Description:

The R-7539-B Bike Bollard offers premium decorative
aesthetics and a fluted body. Bike-locking arms are bolted
internally to ensure secure storage for cyclists. Locking arms
can also be used to assist in removal and transport for
removable applications. R-7539-B Bike bollards feature a
decorative cast ductile iron assembly, powder coated in 1 of 6
custom colors for exceptional durability and corrosion
resistance. Reinforce bollards with embedded steel pipes or
select from a range of mounting options: surface or
embedded anchors or removable mountings.

Specifications:

Height: 35 3/4"
Base Diameter: 10 1/4"
Weight: 80 Ibs ( Bollard Only )
Material: Ductile Iron w/ Stainless Steel Bike Arms
Max. Interior Security Post Size:
3 1/2" x 25" (Diameter x Height)

Finish Options:
© Polyester Powdercoated

See Reliance Foundry's standard color options at:
www.reliance-foundry.com/bollard/colors-bollards

Installation Options:

O Fixed - Anchor Casting in New Concrete
(see sheet 2 of 12)
O Fixed - Concrete Insert Anchor in Existing Concrete
(see sheet 3 of 12)
O Fixed - Adhesive Anchor in Existing Concrete
(see sheet 4 of 12)
O Fixed - Anchor Casting with Concrete Form
(see sheet 5 of 12)
O Post Cover - New Post in New Concrete
(see sheet 6 of 12)
O Post Cover - New Post in Existing Concrete
(see sheet 7 of 12)
O Post Cover - Existing Post with Adhesive Anchor
(see sheet 8 of 12)
O Post Cover - Existing Post with Concrete Anchor
(see sheet 9 of 12)
O Removable - Anchor Casting in New Concrete
(see sheet 10 of 12)
O Removable - Concrete Insert Anchor in Existing Concrete
(see sheet 11 of 12)
O Removable - Premium Retractable in New Concrete
(see sheet 12 of 12)

For more information on bollard post installation, please visit:
www.reliance-foundry.com/bollard/installation-bollards

Care and Maintenance:

Reliance's line of bollards are finished with a long-lasting
powder-coating. Proper care and maintenance are required.
Regularly-performed inspections and routine cleaning will
ensure that a bollard retains its aesthetic appeal and does not
become damaged by the elements.

See Reliance Foundry's maintenance guide at:
www.reliance-foundry.com/bollard/maintenance-bollards

RELIANCE FOUNDRY

SINCE 1925

Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
1-877-789-3245 info@reliance-foundry.com
www.reliance-foundry.com

TITLE
Bollard R-7539-B
SIZE DWG NO REV
C R7539B 5

COPYRIGHT RESERVED THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PROPERTY OF RELIANCE FOUNDRY CO. LTD.

NOT TO SCALE

SHEET 1 OF 12

4 |

.3

2

1




Bollard R-7539-B

.~ 143/4—— =

@7

5) Secure bollard cap
with 3/8" set screws
and cover set screws
with plastic plugs.

4

General Description:

The R-7539-B Bike Bollard offers premium decorative
aesthetics and a fluted body. Bike-locking arms are bolted
internally to ensure secure storage for cyclists. Locking arms
can also be used to assist in removal and transport for
removable applications. R-7539-B Bike bollards feature a
decorative cast ductile iron assembly, powder coated in 1 of 6
custom colors for exceptional durability and corrosion
resistance. Reinforce bollards with embedded steel pipes or
select from a range of mounting options: surface or
embedded anchors or removable mountings.

Specifications:

Height: 35 3/4"
Base Diameter: 10 1/4"
Weight: 80 Ibs ( Bollard Only )
Material: Ductile Iron w/ Stainless Steel Bike Arms
Max. Interior Security Post Size:
3 1/2" x 25" (Diameter x Height)

[-) Finish Options:
{ )
4) Secur e bollard base ® Polyester Powdercoated
\fl.!t:: 1t washer and See Reliance Foundry's standard color options at:
ut. www.reliance-foundry.com/bollard/colors-bollards
/@ Installation Options:
® Fixed - Anchor Casting in New Concrete
35 3/4 (see sheet 2 of 12)
O Fixed - Concrete Insert Anchor in Existing Concrete
30 (see sheet 3 of 12)
) O Fixed - Adhesive Anchor in Existing Concrete
Max. Bar Height (see sheet 4 of 12)
) U U U O Fixed - Anchor Casting with Concrete Form
(see sheet 5 of 12)
() O Post Cover - New Post in New Concrete
( (see sheet 6 of 12)
( ) O Post Cover - New Post in Existing Concrete
14 1/2 (see sheet 7 of 12)
O Post Cover - Existing Post with Adhesive Anchor
(see sheet 8 of 12)
O Post Cover - Existing Post with Concrete Anchor
| L BIACE TOURE New Concrete 1) Ensure top of anchor casting (see sheet 9 of 12)
I‘_ 310 1/4 Grade is level and flush with finished O Removable - Anchor Casting in New Concrete
concrete grade (see sheet 10 of 12)
T 7 - ——— T e ————— 2) Wait until conCI:ete is cured O Removable - Concrete Insert Anchor in Existing Concrete
R D S (B AR ST L _ = (see sheet 11 of 12)
1} //\< B! Bt | RS //\\<//\<//\<//\<//\<” O AP \//\<// 3) Tlghﬁen threadedlbtarlulzjllzllt O Removable - Premium Retractable in New Concrete
N SO | AR Y IR AR IR TCR R N reaches approx. 1 to heet 12 of 12)
/ RS PA TS K ;b .A/\ \ \ \ \ Ny A [ > - . .fb \ . . (Sees
I \/ o > SRR //\///\///\///\/// /'i’:." e ':'—>P:A' » //\/// into the anchor casting. For more information on bollard post installation, please visit:
IIQZ Min. Dedptg \\\\/’~ I ERR U S \/\\\/\\/\\/\\\/\\\/ S » e \\\/\ www.reliance-foundry.com/bollard/installation-bollards
ecommen e ~: ,R; : :A~.;'.b'.,b.'. ;- ’ ' .,A'.' ‘;"" ?}.. . A »,“A:. . . B Ab
\// \/ S N R \/ \\//\\//\\// \\// \/,;":: SR e \/ \\4 Care and Maintenance:
AT AN ST NN A S NS NI
//< <// /\//\//\//\//\//\//\//\//\//\// Reliance's line of bollards are finished with a long-lasting
\/\\ \\ \\ SN ,\\ S \/\\ \\ \\ \ \\ \\\ /\\ /\\ /\\ S powder-coating. Proper care and maintenance are required.
SN s 1/4—= ’ N /.///\///\/// b . ’ Regularly-performed inspections and routine cleaning will
ensure that a bollard retains its aesthetic appeal and does not
10" Min. Dia become damaged by the elements.
~ Recommended 7 See Reliance Foundry's maintenance guide at:
Notes: Tools needed: www.reliance-foundry.com/bollard/maintenance-bollards
1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others. 1) Measuring tape
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements. 2) 1 1/2" wrench
3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension 3) 3/16" hex key
is critical to your particular installation. RELIANC 2 FOUNDRY
4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement. _____ SINCE192% —
PARTS LIST Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT 1-877-789-3245 info@reliance-foundry.com
1 1 R7539B R7539 Base w/ Stainless Steel Bike Arms Ductile Iron Powder Coated 65 Ibs www.reliance-foundry.com
2 1 R7539C R7539 Cap Ductile Iron Powder Coated 15 Ibs TITLE
3 1 R7500AN 1" R7500 Anchor Casting 1" Ductile Iron Hot Dip Galvanized |8 3/8 Ibs
4 1 [R7500BAR 1" R7500 Threaded Bar 1" x 31" Steel Plated 6 3/4 Ibs Bollard R-7539-B
5 1 Washer 1" OD 3 1/2" Washer 1" OD 3 1/2" Thick 1/4" Steel Plated 5/8 Ibs
6 1 Hex Nut 1" Hex Nut 1" - requires 1 1/2" wrench Steel Plated 1/4 |bs
7 3 Hexagon Socket Set Screw 3/8" x 3/4" Hexagon Socket Set Screw 3/8" x 3/4" - requires 3/16" hex key Stainless Steel SIZE DWG NO REV
8 3 |Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black C R7539B 5
COPYRIGHT RESERVED  THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PRXERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 2 OF 12
4 I 3 2 I 1




Bollard R-7539-B

143/4——

@7

(-]

7) Secure bollard cap
with 3/8" set screws
and cover set screws
with plastic plugs.

&

6) Secure bollard base
with 3/4" washer
and 3/4" nut.

General Description:

The R-7539-B Bike Bollard offers premium decorative
aesthetics and a fluted body. Bike-locking arms are bolted
internally to ensure secure storage for cyclists. Locking arms
can also be used to assist in removal and transport for
removable applications. R-7539-B Bike bollards feature a
decorative cast ductile iron assembly, powder coated in 1 of 6
custom colors for exceptional durability and corrosion
resistance. Reinforce bollards with embedded steel pipes or
select from a range of mounting options: surface or
embedded anchors or removable mountings.

Specifications:

Height: 35 3/4"
Base Diameter: 10 1/4"
Weight: 80 Ibs ( Bollard Only )
Material: Ductile Iron w/ Stainless Steel Bike Arms
Max. Interior Security Post Size:
3 1/2" x 25" (Diameter x Height)

Finish Options:
©® Polyester Powdercoated

See Reliance Foundry's standard color options at:
www.reliance-foundry.com/bollard/colors-bollards

Installation Options:

O Fixed - Anchor Casting in New Concrete
(see sheet 2 of 12)

35 3/4 © Fixed - Concrete Insert Anchor in Existing Concrete
(see sheet 3 of 12)
30 O Fixed - Adhesive Anchor in Existing Concrete
Max. Bar Height (see sheet 4 of 12)
O Fixed - Anchor Casting with Concrete Form
vV MY (see sheet 5 of 12)
( ) O Post Cover - New Post in New Concrete
) € (see sheet 6 of 12)
( Y T ) O Post Cover - New Post in Existing Concrete
( ) (see sheet 7 of 12)
14 1/2 O Post Cover - Existing Post with Adhesive Anchor
(see sheet 8 of 12)
1) Use hammer drill to make hole O Post Cover - Existing Post with Concrete Anchor
] Existing Concrete 1" dia. x 3 1/8" depth. (see sheet 9 of 12)
ILIANCE FOUNDR 2) Clean drill hole of debris. O Removable - Anchor Casting in New Concrete
~— @10 1/4 Grade 3) Insert drop-in anchor into hole (see sheet 10 of 12)
4) Use hammer and setting tool O Removable - C(oncre’;e Insert ?ncr;or in Existing Concrete
J T N N2 N B A , see sheet 11 of 12
sis X RO R R 5 oo e ar | © Rl R St e o
1 N \/ RPN | || EERRERRN \X \\ \\ \X \x RGN 1 § SRR \x\ 9 . (see sheet 12 of 12)
L e >/\/\/\/\/\/ RIS BEAESE .:»/\/ reached approx. 1" into
/ T J ot // // // // // NSO RO // / the drop-in anchor. For more information on bollard post installation, please visit:
@1 N : S T \\\ \\\ \\\ \\\ \ AR et R \\/\ www.reliance-foundry.com/bollard/installation-bollards
N N N RN |
\/\\ e \/\\/\\/\\/\\/\\ ‘\/\\/\ Care and Maintenance:
//\//\// //\//\//\\//\\//\\//\//\//\ \/ //\//\ \/ // Reliance's line of bollards are finished with a long-lasting
\/\\/\\/\\(\\< \/\\/\\/\\/\\/\\/\\/\k/\\/\\/\\/\ powder-coating. Proper care and maintenance are required.
/\// I\ ANNTN //\\//\\// /\//\\//\ S NNINNIANNSS Regularly-performed inspections and routine cleaning will
SN S N ensure that a bollard retains its aesthetic appeal and does not
Tools needed: become damaged by the elements.
1) Measuring tape See Reliance Foundry's maintenance guide at:
Notes: 2) 1 1/8" wrench www.reliance-foundry.com/bollard/maintenance-bollards
: 3) 3/16" hex ke
1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others. 43 H/ammer drilly
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements. 5) 1" Masonry drill bit
3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension 6) Hammer
is critical to your particular installation. 7) Drop-in concrete insert setting tool RELIANCE FOUNDRY
4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement. _____ SINCE192% —
PARTS LIST Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT 1-877-789-3245 info@reliance-foundry.com
1 1 R7539B R7539 Base w/ Stainless Steel Bike Arms Ductile Iron Powder Coated 65 Ibs www.reliance-foundry.com
2 1 R7539C R7539 Cap Ductile Iron Powder Coated 15 Ibs TITLE
3 1 Drop-in Concrete Insert 3/4" Drop-in Concrete Insert 3/4" - requires 1" x 3 1/8" hole (dia. x depth) Steel Plated 1/2 Ibs
4 1 [R7500BAR 3/4" R7500 Threaded Bar 3/4" x 31" Steel Plated 3 1/4 Ibs Bollard R-7539-B
5 1 Washer 3/4" OD 3 1/2" Washer 3/4" OD 3 1/2" Thick 1/4" Steel Plated 5/8 lbs
6 1 Hex Nut 3/4" Hex Nut 3/4" - requires 1 1/8" wrench Steel Plated 1/8 Ibs
7 3 Hexagon Socket Set Screw 3/8" x 3/4" Hexagon Socket Set Screw 3/8" x 3/4" - requires 3/16" hex key Stainless Steel SIZE DWG NO REV
8 3 |Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black C R7539B 5
COPYRIGHT RESERVED  THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PROPERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 3 OF 12

4 |

3 S

2

1




Bollard R-7539-B

14 3/4——

@7

8) Secure bollard cap
with 3/8" set screws
and cover set screws
with plastic plugs.

General Description:

The R-7539-B Bike Bollard offers premium decorative
aesthetics and a fluted body. Bike-locking arms are bolted
internally to ensure secure storage for cyclists. Locking arms
can also be used to assist in removal and transport for
removable applications. R-7539-B Bike bollards feature a
decorative cast ductile iron assembly, powder coated in 1 of 6
custom colors for exceptional durability and corrosion
resistance. Reinforce bollards with embedded steel pipes or
select from a range of mounting options: surface or
embedded anchors or removable mountings.

Specifications:

Height: 35 3/4"
Base Diameter: 10 1/4"
Weight: 80 Ibs ( Bollard Only )
Material: Ductile Iron w/ Stainless Steel Bike Arms
Max. Interior Security Post Size:
3 1/2" x 25" (Diameter x Height)

C 2 ) 7) Secure bollard base Finish Options:
with 1" washer ®© Polyester Powdercoated
and 1" nut. See Reliance Foundry's standard color options at:
www.reliance-foundry.com/bollard/colors-bollards
/@ Installation Options:
O Fixed - Anchor Casting in New Concrete
35 3/4 (see sheet 2 of 12)
O Fixed - Concrete Insert Anchor in Existing Concrete
(see sheet 3 of 12)
30 ®© Fixed - Adhesive Anchor in Existing Concrete
Max. Bar Height (see sheet 4 of 12)
) U U U O Fixed - Anchor Casting with Concrete Form
(see sheet 5 of 12)
() O Post Cover - New Post in New Concrete
( (see sheet 6 of 12)
( ) O Post Cover - New Post in Existing Concrete
14 1/2 (see sheet 7 of 12)
O Post Cover - Existing Post with Adhesive Anchor
(see sheet 8 of 12)
. O Post Cover - Existing Post with Concrete Anchor
1) Use hammer drill to make hole
I r R BADA l e T EX|St|ng Concrete ) 151/8"ad|a ):4|rlde th a (see Sheet 9 Of 12)
e o p " O Removable - Anchor Casting in New Concrete
~— 10 1/4 Grade 2) Clean drill hole of debris. (see sheet 10 of 12)
. . 3) Caulk adhesive into hole from O Removable - Concrete Insert Anchor in Existing Concrete
// /ix, 3 » z B\ N // / / / / > R ,, > N . ,,P/ / bottom up and fill 1/4 full. (see sheet 11 of 12)
4 /\// » \{. o : /\//\//\//\//\/" . ¥ R /\// 4) Push threaded bar into adhesive O Removable - Premium Retractable in New Concrete
o N SURRIY i [ A and turn to ensure bonding. see sheet 12 0
AN N SRS ININVIN AN NI BN d tur t bondi (see sheet 12 of 12)
L e SR / / / / Y , v / / 5) Ensure bar is perpendicular and ; : : : it
R N IEE /\/\/\/\/ : > S /\/ . For more information on bollard post installation, please visit:
@11/8 % e \/\\\ \\ \\ \\\ \\\ ot SR \\\ N extend no more than 30" above www.reliance-foundry.com/bollard/installation-bollards
R e RN RN X grade. | |
R ®/. v e \ AN \\X \\\\\\ \\X \\\ S TN ® C 6) V\é?:t at Ie?st 4t5 minutes for Care and Maintenance:
~\\ Ny Ny \\ \\ '\\\ ’ \\ ‘\\' d eS|Ve 0 set.
//<//<//</ <// ///\///\///\///\///</ <//<//<//\///\/// Reliance's line of bollards are finished with a long-lasting
\/\\ \\ /\\ AONNAL /\\ /\ \\ \ \\ \\ \\\ /\\ /\\ /\\ N powder-coating. Proper care and maintenance are required.
e % ' ’ = /// ///\// \/// // g ' 7 Regularly-performed inspections and routine cleaning will
ensure that a bollard retains its aesthetic appeal and does not
become damaged by the elements.
Tools nee<.jed: See Reliance Foundry's maintenance guide at:
) 1) Measuring tape www.reliance-foundry.com/bollard/maintenance-bollards
Notes: 2) 1 1/2" wrench
1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others. 3) 3/16" hex key
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements. 4) Hammer dril
3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension 5) 1 1/8" Masonry drill bit
is critical to your particular installation. 6) Caulking gun and utility knife RELIANCE FOUNDRY
4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement. _____ SINCE192% —
PARTS LIST Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT 1-877-789-3245 info@reliance-foundry.com
1 1 R7539B R7539 Base w/ Stainless Steel Bike Arms Ductile Iron Powder Coated 65 Ibs www.reliance-foundry.com
2 1 R7539C R7539 Cap Ductile Iron Powder Coated 15 Ibs TITLE
3 1 Adhesive Anchor AC100+ Gold Adhesive Anchoring System Vinylester Adhesive Mortar 5/8 Ibs
4 1 [R7500BAR 1" R7500 Threaded Bar 1" x 34" Steel Plated 6 1/4 Ibs Bollard R-7539-B
5 1 Washer 1" OD 3 1/2" Washer 1" OD 3 1/2" Thick 1/4" Steel Plated 5/8 Ibs
6 1 Hex Nut 1" Hex Nut 1" - requires 1 1/2" wrench Steel Plated 1/4 |bs
7 3 Hexagon Socket Set Screw 3/8" x 3/4" Hexagon Socket Set Screw 3/8" x 3/4" - requires 3/16" hex key Stainless Steel SIZE DWG NO REV
8 3 |Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black C R7539B G
COPYRIGHT RESERVED  THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PROPERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 4 OF 12

4 |

3

i} 2

1




Bollard R-7539-B

35

3/4

Max. Bar Hei

Landscaping Material

@10 1/4

. 143/4—— ]
@7
()
{ )
( )
) {
( )

Ty ——
LIANCE FOUNDE

/ FA TN CN NG > &
QUK SR TR SN AN NN AN AN IR N
AN N R R N N NI I 77, IR N\
et R AL AR AR R R
12" Min. Depth (X 77X AK AR AR ARG ARG
Recommended \SY NS NSNS \\// N N A N N A AN,
LUK :5\ 1///4 4 \\//\\<\\{<\\Z\\\//{\\\//{\\\//{\\\/<\\<\\/‘/\\/K\//\ R,
. 10" Min. Dia. _ |
Recommended
Notes:

1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others.
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements.

New Concrete

Concrete Form

Grade

3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension
is critical to your particular installation.

4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement.

5) Secure bollard cap
with 3/8" set screws

and cover set screws

with plastic plugs.

4) Secure bollard base
with 1" washer and
1" nut.

1) Ensure top of anchor casting
is level and flush with finished
concrete grade.

2) Wait until concrete is cured.

3) Tighten threaded bar until it
reaches approx. 1to 1 1/2"
into the anchor casting.

Tools needed:

1) Measuring tape
2) 1 1/2" wrench
3) 3/16" hex key

General Description:

The R-7539-B Bike Bollard offers premium decorative
aesthetics and a fluted body. Bike-locking arms are bolted
internally to ensure secure storage for cyclists. Locking arms
can also be used to assist in removal and transport for
removable applications. R-7539-B Bike bollards feature a
decorative cast ductile iron assembly, powder coated in 1 of 6
custom colors for exceptional durability and corrosion
resistance. Reinforce bollards with embedded steel pipes or
select from a range of mounting options: surface or
embedded anchors or removable mountings.

Specifications:

Height: 35 3/4"
Base Diameter: 10 1/4"
Weight: 80 Ibs ( Bollard Only )
Material: Ductile Iron w/ Stainless Steel Bike Arms
Max. Interior Security Post Size:
3 1/2" x 25" (Diameter x Height)

Finish Options:
©® Polyester Powdercoated

See Reliance Foundry's standard color options at:
www.reliance-foundry.com/bollard/colors-bollards

Installation Options:

O Fixed - Anchor Casting in New Concrete
(see sheet 2 of 12)
O Fixed - Concrete Insert Anchor in Existing Concrete
(see sheet 3 of 12)
Fixed - Adhesive Anchor in Existing Concrete
(see sheet 4 of 12)
Fixed - Anchor Casting with Concrete Form
(see sheet 5 of 12)
Post Cover - New Post in New Concrete
(see sheet 6 of 12)
Post Cover - New Post in Existing Concrete
(see sheet 7 of 12)
Post Cover - Existing Post with Adhesive Anchor
(see sheet 8 of 12)
Post Cover - Existing Post with Concrete Anchor
(see sheet 9 of 12)
Removable - Anchor Casting in New Concrete
(see sheet 10 of 12)
Removable - Concrete Insert Anchor in Existing Concrete
(see sheet 11 of 12)
O Removable - Premium Retractable in New Concrete
(see sheet 12 of 12)

For more information on bollard post installation, please visit:
www.reliance-foundry.com/bollard/installation-bollards

O O O O O ©® O

O

Care and Maintenance:

Reliance's line of bollards are finished with a long-lasting
powder-coating. Proper care and maintenance are required.
Regularly-performed inspections and routine cleaning will
ensure that a bollard retains its aesthetic appeal and does not
become damaged by the elements.

See Reliance Foundry's maintenance guide at:
www.reliance-foundry.com/bollard/maintenance-bollards

RELIANCE FOUNDRY

SINCE 1925

PARTS LIST Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT 1-877-789-3245 info@reliance-foundry.com
1 1 R7539B R7539 Base w/ Stainless Steel Bike Arms Ductile Iron Powder Coated 65 Ibs www.reliance-foundry.com
2 1 R7539C R7539 Cap Ductile Iron Powder Coated 15 Ibs TITLE
3 1 R7500AN 1" R7500 Anchor Casting 1" Ductile Iron Hot Dip Galvanized |8 3/8 Ibs
4 1 [R7500BAR 1" R7500 Threaded Bar 1" x 31" Steel Plated 6 3/4 Ibs Bollard R-7539-B
5 1 Washer 1" OD 3 1/2" Washer 1" OD 3 1/2" Thick 1/4" Steel Plated 5/8 Ibs
6 1 Hex Nut 1" Hex Nut 1" - requires 1 1/2" wrench Steel Plated 1/4 |bs
7 3 Hexagon Socket Set Screw 3/8" x 3/4" Hexagon Socket Set Screw 3/8" x 3/4" - requires 3/16" hex key Stainless Steel SIZE DWG NO REV
8 3 Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black C R7539B C5
COPYRIGHT RESERVED  THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PRXERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 5 OF 12
4 I 3 2 I 1




Bollard R-7539-B

5) Secure bollard cap
with 3/8" set screws
and cover set screws

General Description:

The R-7539-B Bike Bollard offers premium decorative
aesthetics and a fluted body. Bike-locking arms are bolted
internally to ensure secure storage for cyclists. Locking arms
can also be used to assist in removal and transport for
removable applications. R-7539-B Bike bollards feature a
decorative cast ductile iron assembly, powder coated in 1 of 6
custom colors for exceptional durability and corrosion

-~ 143/4———— = _ _ resistance. Reinforce bollards with embedded steel pipes or
with plastic plugs. select from a range of mounting options: surface or
embedded anchors or removable mountings.
@7 Specifications:
2
Height: 35 3/4"
Base Diameter: 10 1/4"
Weight: 80 Ibs ( Bollard Only )
Material: Ductile Iron w/ Stainless Steel Bike Arms
° Max. Interior Security Post Size:
3 1/2" x 25" (Diameter x Height)
> () - = - .
c 0 ) Finish Options:
I\ A A~ A 4) Secure bollard base ® Polyester Powdercoated
SN V\{!th 1" washer and See Reliance Foundry's standard color options at:
BNE 1" nut. www.reliance-foundry.com/bollard/colors-bollards
NG /@ Installation Options:
ENE O Fixed - Anchor Casting in New Concrete
353/4 AN (see sheet 2 of 12)
» O Fixed - Concrete Insert Anchor in Existing Concrete
30 (see sheet 3 of 12)
Max. Bar Height .;.; _ _ O Fixed - Adhesive Anchor in Existing Concrete
s Max. interior post (see sheet 4 of 12)
<IN 31/2" x 25" VU U U O Fixed - Anchor Casting with Concrete Form
SN d ( dia. x height) ( ) (see sheet 5 of 12)
RS Filled with concrete ) { © Post Cover - New Post in New Concrete
A\ - - (see sheet 6 of 12)
AN ( ) O Post Cover - New Post in Existing Concrete
N 14 1/2 (see sheet 7 of 12)
O Post Cover - Existing Post with Adhesive Anchor
: (see sheet 8 of 12)
NI O Post Cover - Existing Post with Concrete Anchor
A Aﬂ: I RARC o NeW Concrete (See sheet 9 Of 12)
imipy @10 1/4 Grade O Removable - Anchor Casting in New Concrete
o (see sheet 10 of 12)
T INE B s AN S Y . le - Concrete Insert Anchor in Existing Concrete
/ /K v N / / / / DO R > / 1) Use 1 f1" O Removab
SR Eauudts TR VI AT P piece of 1" nut on bar see sheet 11 of 12
//\\\//. SRS (UERAN //\X//\\//\\//\X//\X RRPRIRN DR e «4 as anchor in wet concrete. O Removable - P(remium Retractable) in New Concrete
N . o] s . o e AN . - K s, - \ \ .
/\ / S | AR ;"‘/\ /\ /\ /\ /\ > T K IR SRR 4 /\ / 2) Ensure the bar is centered (see sheet 12 of 12)
KW // // // // // IR | o // v and extend no more than . . . .
N \\4 o ¥ PTETITTN et \\\ \\\ \\\ \\\ \ ARG he o \\/\ 30" ab d For more information on bollard post installation, please visit:
/\/ SO ST SR S /\/\/\/\/\/ P e e ey \/ ~above grade. www.reliance-foundry.com/bollard/installation-bollards
//\/ SRR »//\\//\\//\\//\\//\ et .:f;//\// 3) Wait until concrete is cured.
>\\ ’ Y ey 'r:"\*\" \/\\\/\\/\\/\\/\\ L ol NS \/\ Care and Maintenance:
DR RN R R R R X,
\/\\/\\/\\\/\\\/ \/\\\/\\\/\\\/\\\/\\/\\/\X/\\\/\\/\\/ Reliance's line of bollards are finished with a long-lasting
\ />\ NN A NN //\\ /\ / /\ /\ / /,\ NN /> powder-coating. Proper care and maintenance are required.
e NSNS NS S i : : ; . .
NS Regularly-performed inspections and routine cleaning will
ensure that a bollard retains its aesthetic appeal and does not
become damaged by the elements.
See Reliance Foundry's maintenance guide at:
. www.reliance-foundry.com/bollard/maintenance-bollards
Notes: Tools needed:
1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others. 1) Measuring tape
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements. 2) 1 1/2" wrench
3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension 3) 3/16" hex key
is critical to your particular installation. RELIANC 2 FOUNDRY
4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement. _____ SINCE192% —
Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
PARTS LIST 1-877-789-3245 info@reliance-foundry.com
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT www.reliance-foundry.com
1 1 R7539B R7539 Base w/ Stainless Steel Bike Arms Ductile Iron Powder Coated 65 Ibs TITLE
2 1 R7539C R7539 Cap Ductile Iron Powder Coated 15 Ibs
3 1 [R7500BAR 1" R7500 Threaded Bar 1" x 31" Steel Plated 6 3/4 Ibs Bollard R-7539-B
4 1 Washer 1" OD 3 1/2" Washer 1" OD 3 1/2" Thick 1/4" Steel Plated 5/8 Ibs
5 2 Hex Nut 1" Hex Nut 1" - requires 1 1/2" wrench Steel Plated 1/4 |bs
6 3 Hexagon Socket Set Screw 3/8" x 3/4" Hexagon Socket Set Screw 3/8" x 3/4" - requires 3/16" hex key Stainless Steel SIZE DWG NO REV
7 3 |Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black C R7539B 5
COPYRIGHT RESERVED THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PROPERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 6 OF 12

4 |

3 S

2

1




Bollard R-7539-

B

5) Secure bollard cap
with 3/8" set screws

General Description:

The R-7539-B Bike Bollard offers premium decorative
aesthetics and a fluted body. Bike-locking arms are bolted
internally to ensure secure storage for cyclists. Locking arms
can also be used to assist in removal and transport for
removable applications. R-7539-B Bike bollards feature a
decorative cast ductile iron assembly, powder coated in 1 of 6
custom colors for exceptional durability and corrosion

. 1434 ] and cover set screws resistance. Reinforce bollards with embedded steel pipes or
with plastic plugs. select from a range of mounting options: surface or
embedded anchors or removable mountings.
@7 Specifications:
2
Height: 35 3/4"
Base Diameter: 10 1/4"
Weight: 80 Ibs ( Bollard Only )
Material: Ductile Iron w/ Stainless Steel Bike Arms
° Max. Interior Security Post Size:
3 1/2" x 25" (Diameter x Height)
> () - = - .
c 0 ) Finish Options:
I\ A A~ A 4) Secure bollard base ® Polyester Powdercoated
SN V\{!th 1" washer and See Reliance Foundry's standard color options at:
BNE 1" nut. www.reliance-foundry.com/bollard/colors-bollards
NG /@ Installation Options:
ENE O Fixed - Anchor Casting in New Concrete
353/4 AN (see sheet 2 of 12)
» O Fixed - Concrete Insert Anchor in Existing Concrete
30 (see sheet 3 of 12)
Max. Bar Height . N O Fixed - Adhesive Anchor in Existing Concrete
' I\ Max. interior post (see sheet 4 of 12)
<IN 31/2" x 25" VU U U O Fixed - Anchor Casting with Concrete Form
SN d ( dia. x height) ( ) (see sheet 5 of 12)
1,; * Filled with concrete [ ) (] O Post Cover - New Post in New Concrete
) T (see shee_:t 6 o_f }2)
AN ( ) © Post Cover - New Post in Existing Concrete
NS 14 1/2 New Post (see sheet 7 of 12)
O Post Cover - Existing Post with Adhesive Anchor
: (see sheet 8 of 12)
NI O Post Cover - Existing Post with Concrete Anchor
SNY (see sheet 9 of 12)
imipy @10 1/4 Grade O Removable - Anchor Casting in New Concrete
o (see sheet 10 of 12)
R 5,0 " FINT s S S RS b [ s m.vo b . " O Removable - Concrete Insert Anchor in Existing Concrete
R [ S I A S 'A:‘ s VR ..A'} o TR AT V. 1) Use 1 piece of 1" nut on bar (see sheet 11 of 12)
IRt S » T - fj e A N R P ISR 2 Es anch;)hr iTjwe-t conctreted- O Removable - Premium Retractable in New Concrete
N SO S R e SR PR S Lo BTSN TR SRR SRR SN nsure the bar Is centere (see sheet 12 of 12)
/ N/ LT AKA L A N N/ N/ N N S . el N/
\/\\/4 S PURTTTTON \//\\\/ //\\\/\\\//\\/ RSN s T //\\//\ ggﬁl eé(tend nodmore than For more information on bollard post installation, please visit:
/\/ Y L /\/ \/\/\/> s T ey \/ ~above grade. www.reliance-foundry.com/bollard/installation-bollards
// 2L »// // // // // o e // e 3) Wait until concrete is cured.
N NN NN\ N\ intenance:
SNSRI NN NSNS ST N Care and Maintenance:
RN RN DR
\/\\/\\/\\\/\\\/\\/\\\/ \\\/\\\/\\/\\/\X/\\\/\\/\\/ Reliance's line of bollards are finished with a long-lasting
//\ / P NN A NN //\\ \ / /\ /\ //\ /,\ NN /> powder-coating. Proper care and maintenance are required.
‘ ' '/ NS /7 Regularly-performed inspections and routine cleaning will
. ensure that a bollard retains its aesthetic appeal and does not
Existing Concrete become damaged by the elements.
See Reliance Foundry's maintenance guide at:
. www.reliance-foundry.com/bollard/maintenance-bollards
Notes: Tools needed:
1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others. 1) Measuring tape
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements. 2) 1 1/2" wrench
3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension 3) 3/16" hex key
is critical to your particular installation. RELIANC 2 FOUNDRY
4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement. _____ SINCE192% —
Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
PARTS LIST 1-877-789-3245 info@reliance-foundry.com
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT www.reliance-foundry.com
1 1 R7539B R7539 Base w/ Stainless Steel Bike Arms Ductile Iron Powder Coated 65 Ibs TITLE
2 1 R7539C R7539 Cap Ductile Iron Powder Coated 15 Ibs
3 1 [R7500BAR 1" R7500 Threaded Bar 1" x 31" Steel Plated 6 3/4 Ibs Bollard R-7539-B
4 1 Washer 1" OD 3 1/2" Washer 1" OD 3 1/2" Thick 1/4" Steel Plated 5/8 Ibs
5 2 Hex Nut 1" Hex Nut 1" - requires 1 1/2" wrench Steel Plated 1/4 |bs
6 3 Hexagon Socket Set Screw 3/8" x 3/4" Hexagon Socket Set Screw 3/8" x 3/4" - requires 3/16" hex key Stainless Steel SIZE DWG NO REV
7 3 |Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black C R7539B 5
COPYRIGHT RESERVED THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PROPERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 7 OF 12

4 |

3 S

2

1




Bollard R-7539-B

8) Secure bollard cap
with 3/8" set screws

General Description:

The R-7539-B Bike Bollard offers premium decorative
aesthetics and a fluted body. Bike-locking arms are bolted
internally to ensure secure storage for cyclists. Locking arms
can also be used to assist in removal and transport for
removable applications. R-7539-B Bike bollards feature a
decorative cast ductile iron assembly, powder coated in 1 of 6
custom colors for exceptional durability and corrosion
resistance. Reinforce bollards with embedded steel pipes or

143/4———— = and cover set screws select from a range of mounting options: surface or
with plastic plugs. embedded anchors or removable mountings.
@7 Specifications:
2
Height: 35 3/4"
Base Diameter: 10 1/4"
L) Weight: 80 Ibs ( Bollard Only )
Material: Ductile Iron w/ Stainless Steel Bike Arms
° Max. Interior Security Post Size:
7) Secure bollard base 3 1/2" x 25" (Diameter x Height)
—o | ‘;Vrl,t; 11,, r‘ﬁsr‘er Finish Options:
_ A A A~ A ©® Polyester Powdercoated
f 1) Use h'?mmer d":i” to make hole See Reliance Foundry's standard color options at:
4 N A 1 1/8" dia. x 4" depth. www.reliance-foundry.com/bollard/colors-bollards
l ANE 2) Clean drill hole of debris.
o '. 3) Caulk adhesive into hole from Installation Options:
@1 1/8 SNEE bottom up and fill 1/4 full. _ o
< 4) Push threaded bar into adhesive O Fixed - Anchor Casting in New Concrete
353/4 T . (see sheet 2 of 12)
e A and turn to ensure bonding. _ o
o 5) Ensure bar is perpendicular and O Fixed - Concrete Insert Anchor in Existing Concrete
30 4a d han 30" ab (see sheet 3 of 12)
Max. Bar Height o Max. interior post S;(;ZZ no more than above O Fixed - Adhesive Anchor in Existing Concrete
e . g ae. _ (see sheet 4 of 12)
e 31/2" x 25 VU U U 6) Wait at least 45 minutes for O Fixed - Anchor Casting with Concrete Form
YR ¥ (dia. x height) ( ] adhesive to set. (see sheet 5 of 12)
T Filled with concrete )] { O Post Cover - New Post in New Concrete
oot - - (see sheet 6 of 12)
e : £ ( ) O Post Cover - New Post in Existing Concrete
co 14 1/2 (see sheet 7 of 12)
EPU ® Post Cover - Existing Post with Adhesive Anchor
SR (see sheet 8 of 12)
Lot O Post Cover - Existing Post with Concrete Anchor
i R IANCE FOUMD Existing Concrete " (sehe sheet 9 of 12)
S O Removable - Anchor Casting in New Concrete
P10 1/4 Grade (see sheet 10 of 12)
IO N T S Y le - Concrete Insert Anchor in Existing Concrete
)% /F.».. .. N N / / / / W T / O Removab
e UL AN RS [ SN L B (see sheet 11 of 12)
\/\\\//.j . e s .f‘"';'; \//\x//\\//\\//\k//\x S B P \//\x//\ O Removable - Premium Retractable in New Concrete
\/\\{ ""g: o POTTTTRR, et \/\\\/\\\/\\\/\\\/\ M L i /\\/\ For more information on bollard post installation, please visit:
//\/ R v ‘//\//\//\//\//\/ e ;_'fj.a,.gs:: T »/\// www.reliance-foundry.com/bollard/installation-bollards
/\// . " R . ,,v /\/\/\/\/\» N . : S ,'5" /\/ ]
>\\ IS \\\ \\ \\ \\ \\ L L AN Care and Maintenance:
XXX R R R R R R, el ched wi .
\/\\/\\/\\\/\\\/\/\\\/\\\/\\\/\\\/\\/\\/\X/\\\/\\/\\/\ Reliance's line of bollards are finished with a long-lasting
/\/>\ NN N NN //\\//\\/ /\/\// /,\ NN /> powder-coating. Proper care and maintenance are required.
‘ ' '/ NS /7 Regularly-performed inspections and routine cleaning will
ensure that a bollard retains its aesthetic appeal and does not
become damaged by the elements.
Tools needed: See Reliance Foundry's maintenance guide at:
Notes: 1) Measuring tape www.reliance-foundry.com/bollard/maintenance-bollards
1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others. g; ; /1/62 hv;)r(elr(lgh
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements. 4) Hammer drilly
3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension 5) 1 1/8" Masonry drill bit
is critical to your particular installation. 6) Caulking gun ;;Ind utility knife R E LIA NC E FO UNDRY
4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement. 99 _____ SINCE192% —
PARTS LIST Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT 1-877-789-3245 info@reliance-foundry.com
1 1 R7539B R7539 Base w/ Stainless Steel Bike Arms Ductile Iron Powder Coated 65 Ibs www.reliance-foundry.com
2 1 R7539C R7539 Cap Ductile Iron Powder Coated 15 Ibs TITLE
3 1 Adhesive Anchor AC100+ Gold Adhesive Anchoring System Vinylester Adhesive Mortar 5/8 Ibs
4 1 [R7500BAR 1" R7500 Threaded Bar 1" Custom Order Length Steel Plated TBD Bollard R-7539-B
5 1 Washer 1" OD 3 1/2" Washer 1" OD 3 1/2" Thick 1/4" Steel Plated 5/8 Ibs
6 1 Hex Nut 1" Hex Nut 1" - requires 1 1/2" wrench Steel Plated 1/4 |bs
7 3 Hexagon Socket Set Screw 3/8" x 3/4" Hexagon Socket Set Screw 3/8" x 3/4" - requires 3/16" hex key Stainless Steel SIZE DWG NO REV
8 3 |Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black C R7539B 5
COPYRIGHT RESERVED THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PRXERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 8 OF 12
4 I 3 2 I 1




Bollard R-7539-B

7) Secure bollard cap
with 3/8" set screws
and cover set screws
with plastic plugs.

General Description:

The R-7539-B Bike Bollard offers premium decorative
aesthetics and a fluted body. Bike-locking arms are bolted
internally to ensure secure storage for cyclists. Locking arms
can also be used to assist in removal and transport for
removable applications. R-7539-B Bike bollards feature a
decorative cast ductile iron assembly, powder coated in 1 of 6
custom colors for exceptional durability and corrosion

14 3/4 resistance. Reinforce bollards with embedded steel pipes or
select from a range of mounting options: surface or
embedded anchors or removable mountings.

2 @7 \ Specifications:
' Height: 35 3/4"
Base Diameter: 10 1/4"
6) Secure bollard base Weight: 80 Ibs ( Bollard Only )
with 3/4" washer Material: Ductile Iron w/ Stainless Steel Bike Arms
° and 3/4" nut. Max. Interior Security Post Size:
3 1/2" x 25" (Diameter x Height)
¥ ° 1) Use hammer drill to make hole .. .
— 1" dia. x 3 1/8" depth. Finish Options:
o 2) Clean drill h(_)le of deb_rls. ® Polyester Powdercoated
I @ N 3) Insert drop-in anchor into hole. See Reli Foundrv's standard col " .
X H €€ KRellance roundry's standard color options at:
3 1/ 8 A ’ |m|A 4) tL:)siIrri]\?? ;Ffé ggsvrféttmg tool www.reliance-foundry.com/bollard/colors-bollards
S 5) Tighten threaded bar until it - . ]
@1 reached approx. 1" into Installation Options:
< the drop-in anchor. O Fixed - Anchor Casting in New Concrete
35 3/4 LT (see sheet 2 of 12)
A B _ _ O Fixed - Concrete Insert Anchor in Existing Concrete
e Max. interior post (see sheet 3 of 12)
30 _ RS 31/2" x 25" O Fixed - Adhesive Anchor in Existing Concrete
Max. Bar Height N o ( dia. x height) (see sheet 4 of 12)
Tra Filled with concrete VU U U O Fixed - Anchor Casting with Concrete Form
. (see sheet 5 of 12)
Tl S r O Post Cover - New Post in New Concrete
s J ( y . ) (see sheet 6 of 12)
Lo ( ) O Post Cover - New Post in Existing Concrete
; ( 14 1/2 (see sheet 7 of 12)
- \ O Post Cover - Existing Post with Adhesive Anchor
I Y (see sheet 8 of 12)
’ Existing Concrete ® Post Cover - Existing Post with Concrete Anchor
4 LANCE FOUNDD (see sheet 9 of 12)
h ’-7¢10 1/4 Grade O Removable - Anchor Casting in New Concrete
R ) (see sheet 10 of 12)
n: D B N . O Removable - Concrete Insert Anchor in Existing Concrete
ST NNV ZONION
RN BEUTRIREN A BRI Y (see sheet 11 of 12)
/ . A T ////////////// // N R R // /// O Removable - Premium Retractable in New Concrete
> / . ol \\/\/\/\/\/\/ = Aol »/\/\ (see sheet 12 of 12)
/\//\' A b e \//\//\//\//\//\ ey " G 1a R //\// For more information on bollard post installation, please visit:
R T T T T U D www.reliance-foundry.com/bollard/installation-bollards
/\ \ TPy \\\\\\ . /\\\ ry.com/ /
IR 3 RN RN w2 O
AN N I e N N AN N AN N L P AN Care and Maintenance:
/ /// ///\// \// "¢ /\/// /// ///////// ///\///\///\///\// /// Reliance's line of bollards are finished with a long-lasting
\ \ \ \ \ \ \ \ \ \ \ \ \ N powder-coating. Proper care and maintenance are required.
/ // // // // // // // // // // // // // // // // > Regularly-performed inspections and routine cleaning will
/\X/\\/\\ \\\ AN \\ o\ \ /\x /\x /\x /\\ /\\ ANANX \/\\ N ensure that a bollard retains its aesthetic appeal and does not
AN A ‘ ANV /X //\ NN A Tools needed: become damaged by the elements.
1) Measuring tape See Reliance Foundry's maintenance guide at:
Notes: 2) 1 1/8" wrench www.reliance-foundry.com/bollard/maintenance-bollards
. . . , . . : 3) 3/16" hex key
1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others. 4) Hammer dril
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements. 5) 1" Masonry drill bit
3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension 6) Hammer Y
is critical to your particular installation. 7) Drop-in concrete insert setting tool RELIANCE FOUNDRY
4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement. _____ SINCE192% —
PARTS LIST Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT 1-877-789-3245 info@reliance-foundry.com
1 1 R7539B R7539 Base w/ Stainless Steel Bike Arms Ductile Iron Powder Coated 65 Ibs www.reliance-foundry.com
2 1 |R7539C R7539 Cap Ductile Iron Powder Coated 15 Ibs TITLE
3 1 Drop-in Concrete Insert 3/4" Drop-in Concrete Insert 3/4" - requires 1" x 3 1/8" hole (dia. x depth) Steel Plated 1/2 |bs
4 1 R7500BAR 3/4" R7500 Threaded Bar 3/4" Custom Order Length Steel Plated TBD Bol Ia rd R_7539_B
5 1 Washer 3/4" OD 3 1/2" Washer 3/4" OD 3 1/2" Thick 1/4" Steel Plated 5/8 Ibs
6 1 Hex Nut 3/4" Hex Nut 3/4" - requires 1 1/8" wrench Steel Plated 1/8 Ibs
7 3 |Hexagon Socket Set Screw 3/8" x 3/4" Hexagon Socket Set Screw 3/8" x 3/4" - requires 3/16" hex key Stainless Steel SIZE DWG NO REV
8 3 |Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black C R7539B G5
COPYRIGHT RESERVED  THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PROPERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 9 OF 12
4 I 3 4& 2 I 1




Bollard R-7539-B

35

3/4

4

l

143/4— =
@7
o
( )
A A AN
-]
( )
)] [(
( J
)] (
4 ( )
\ 14 1/2
\
vA \
‘ I,‘
DA s Fou |
- L .AAA__‘#
f
(L gpl) (oo

12" Min. Depth
Recommended

< A : ? '-}.;i ) ifﬁ?}.‘// XK

SR TR
Y BN SN \\\\\\
NN NN N

-5 1/4— I

- 10" Min. Dia.
Recommended

Notes:

1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others.
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements.

SN NN

LR 4

QK o
/\\///\\\j/< i <
NN
NN

. .. by : >
boa Lty T e

New Concrete

' Grade

3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension

4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement.

is critical to your particular installation.

7) Secure bollard cap
with 3/8" set screws
and cover set screws
with plastic plugs

1) Ensure top of anchor casting
is level and flush with finished
concrete grade.

2) Wait until concrete is cured.

3) Tighten removable mount with

1" washer and 1" bolt.

4) Align and insert lock pin through

bollard base.

5) Turn bollard base clockwise to

Tools needed:

1) Measuring tape
2) 11/2" wrench
3) 3/16" hex key

tighten it into position.
6) Fasten the padlock.

General Description:

The R-7539-B Bike Bollard offers premium decorative
aesthetics and a fluted body. Bike-locking arms are bolted
internally to ensure secure storage for cyclists. Locking arms
can also be used to assist in removal and transport for
removable applications. R-7539-B Bike bollards feature a
decorative cast ductile iron assembly, powder coated in 1 of 6
custom colors for exceptional durability and corrosion
resistance. Reinforce bollards with embedded steel pipes or
select from a range of mounting options: surface or
embedded anchors or removable mountings.

Specifications:

Height: 35 3/4"
Base Diameter: 10 1/4"
Weight: 80 Ibs ( Bollard Only )
Material: Ductile Iron w/ Stainless Steel Bike Arms
Max. Interior Security Post Size:
3 1/2" x 25" (Diameter x Height)

Finish Options:
©® Polyester Powdercoated

See Reliance Foundry's standard color options at:
www.reliance-foundry.com/bollard/colors-bollards

Installation Options:

O Fixed - Anchor Casting in New Concrete
(see sheet 2 of 12)
O Fixed - Concrete Insert Anchor in Existing Concrete
(see sheet 3 of 12)
O Fixed - Adhesive Anchor in Existing Concrete
(see sheet 4 of 12)
O Fixed - Anchor Casting with Concrete Form
(see sheet 5 of 12)
O Post Cover - New Post in New Concrete
(see sheet 6 of 12)
O Post Cover - New Post in Existing Concrete
(see sheet 7 of 12)
O Post Cover - Existing Post with Adhesive Anchor
(see sheet 8 of 12)
O Post Cover - Existing Post with Concrete Anchor
(see sheet 9 of 12)
® Removable - Anchor Casting in New Concrete
(see sheet 10 of 12)
O Removable - Concrete Insert Anchor in Existing Concrete
(see sheet 11 of 12)
O Removable - Premium Retractable in New Concrete
(see sheet 12 of 12)

For more information on bollard post installation, please visit:
www.reliance-foundry.com/bollard/installation-bollards

Care and Maintenance:

Reliance's line of bollards are finished with a long-lasting
powder-coating. Proper care and maintenance are required.
Regularly-performed inspections and routine cleaning will
ensure that a bollard retains its aesthetic appeal and does not
become damaged by the elements.

See Reliance Foundry's maintenance guide at:
www.reliance-foundry.com/bollard/maintenance-bollards

RELIANCE FOUNDRY

PARTS LIST SINCE 1925
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT

1 1 R75398B R7539 Base w/ Stainless Steel Bike Arms Ductile Iron Powder Coated 65 Ibs Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
2 1 R7539C R7539 Cap Ductile Iron Powder Coated 15 Ibs 1-877-789-3245 info@reliance-foundry.com
3 1 R7500AN 1" R7500 Anchor Casting 1" Ductile Iron Hot Dip Galvanized 8 3/8 Ibs www.reliance-foundry.com
4 1 R7500RM 1" R7500 Removable Mount 1" Steel Hot Dip Galvanized 4 5/8 Ibs TITLE
5 1 Washer 1" OD 2" Washer 1" OD 2" Thick 1/8" Steel Plated 1/8 Ibs
6 1 Hex Bolt 1" x 1 1/2" Hex Bolt 1" x 1 1/2" - requires 1 1/2" wrench Steel Plated 5/8 |bs BOI Ia rd R-7539-B
7 3 Hexagon Socket Set Screw 3/8" x 3/4" Hexagon Socket Set Screw 3/8" x 3/4" - requires 3/16" hex key |Stainless Steel
8 3 Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black
9 1 R7500 Lock Pin 3/4" x 10" R7500 Lock Pin 3/4" x 10" Steel Powder Coated 11/2 Ibs SIZE DWG NO REV
10 1 Padlock (Optional) Optional Padlock (Brass or Stainless Steel) Choice of Brass or Stainless Steel 5/8 Ibs C R7539B G5

COPYRIGHT RESERVED  THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PRZEERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 10 OF 12

4 I 3 2 I 1




Bollard R-7539-B

35 3/4
e "{'17.'
O R
UK
Notes:

\
2
N
A

A\
N
IO TN NN

14 3/4————

Existing Concrete
l(\\I

Grade

I s
N &
N\

//\
2
PN

PR
v Ve

/"i
K
7

X
N

N
K

NG

R S "A .P.'A'

C ey -

\,“ R
// N LR
& . oo A

. b BRI R

NS

>
R
X
¢\\
\/\

T

X
booat L P

SN
KK

/\/\;”'\'/ S
CRURALKK

N

AN

/.

1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others.
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements.
3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension

is critical to your particular installation.

4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement.

Tools needed:

1) Measuring tape

2) 1 1/8" wrench

3) 3/16" hex key

4) Hammer drill

5) 1" Masonry drill bit
6) Hammer

9) Secure bollard cap
with 3/8" set screws
and cover set screws
with plastic plugs.

1) Use hammer drill to make hole
1" dia. x 3 1/8" depth.

2) Clean drill hole of debris.

3) Insert drop-in anchor into hole

4) Use hammer and setting tool
to drive plug down.

5) Tighten removable mount with
3/4" washer and 3/4" bolt.

6) Align and insert lock pin through
bollard base.

7) Turn bollard base clockwise to
tighten it into position.

8) Fasten the padlock.

7) Drop-in concrete insert setting tool

General Description:

The R-7539-B Bike Bollard offers premium decorative
aesthetics and a fluted body. Bike-locking arms are bolted
internally to ensure secure storage for cyclists. Locking arms
can also be used to assist in removal and transport for
removable applications. R-7539-B Bike bollards feature a
decorative cast ductile iron assembly, powder coated in 1 of 6
custom colors for exceptional durability and corrosion
resistance. Reinforce bollards with embedded steel pipes or
select from a range of mounting options: surface or
embedded anchors or removable mountings.

Specifications:

Height: 35 3/4"
Base Diameter: 10 1/4"
Weight: 80 Ibs ( Bollard Only )
Material: Ductile Iron w/ Stainless Steel Bike Arms
Max. Interior Security Post Size:
3 1/2" x 25" (Diameter x Height)

Finish Options:
©® Polyester Powdercoated

See Reliance Foundry's standard color options at:
www.reliance-foundry.com/bollard/colors-bollards

Installation Options:

O Fixed - Anchor Casting in New Concrete
(see sheet 2 of 12)
O Fixed - Concrete Insert Anchor in Existing Concrete
(see sheet 3 of 12)
O Fixed - Adhesive Anchor in Existing Concrete
(see sheet 4 of 12)
Fixed - Anchor Casting with Concrete Form
(see sheet 5 of 12)
Post Cover - New Post in New Concrete
(see sheet 6 of 12)
Post Cover - New Post in Existing Concrete
(see sheet 7 of 12)
Post Cover - Existing Post with Adhesive Anchor
(see sheet 8 of 12)
Post Cover - Existing Post with Concrete Anchor
(see sheet 9 of 12)
Removable - Anchor Casting in New Concrete
(see sheet 10 of 12)
® Removable - Concrete Insert Anchor in Existing Concrete
(see sheet 11 of 12)
O Removable - Premium Retractable in New Concrete
(see sheet 12 of 12)

For more information on bollard post installation, please visit:
www.reliance-foundry.com/bollard/installation-bollards

O

o O O O

O

Care and Maintenance:

Reliance's line of bollards are finished with a long-lasting
powder-coating. Proper care and maintenance are required.
Regularly-performed inspections and routine cleaning will
ensure that a bollard retains its aesthetic appeal and does not
become damaged by the elements.

See Reliance Foundry's maintenance guide at:
www.reliance-foundry.com/bollard/maintenance-bollards

RELIANCE FOUNDRY

PARTS LIST SINCE 1925
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT
1 1 R75398B R7539 Base w/ Stainless Steel Bike Arms Ductile Iron Powder Coated 65 Ibs Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
2 1 R7539C R7539 Cap Ductile Iron Powder Coated 15 Ibs 1-877-789-3245 info@reliance-foundry.com
3 1 Drop-in Concrete Insert 3/4" Drop-in Concrete Insert 3/4" - requires 1" x 3 1/8" hole (dia. x depth) Steel Plated 1/2 Ibs www.reliance-foundry.com
4 1 R7500RM 1" R7500 Removable Mount 1" Steel Hot Dip Galvanized 4 5/8 Ibs TITLE
5 1 Washer 3/4" OD 2" Washer 3/4" OD 2" Thick 1/8" Steel Plated 1/8 Ibs
6 1 Hex Bolt 3/4" x 1 1/4" Hex Bolt 3/4" x 1 1/4" - requires 1 1/8" wrench Steel Plated 1/4 Ibs BOI Ia rd R-7539-B
7 3 Hexagon Socket Set Screw 3/8" x 3/4" |Hexagon Socket Set Screw 3/8" x 3/4" - requires 3/16" hex key Stainless Steel
8 3 Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black
9 1 R7500 Lock Pin 3/4" x 10" R7500 Lock Pin 3/4" x 10" Steel Powder Coated 11/2 Ibs SIZE DWG NO REV
10 1 |Padlock (Optional) Optional Padlock (Brass or Stainless Steel) Choice of Brass or Stainless Steel 5/8 Ibs C R7539B 5
COPYRIGHT RESERVED  THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PROPERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 11 OF 12

4

3

i} 2

1




Bollard R-7539-B

* If local frost line N D
exceeds 7-1/2"

deep, provide

adequate drainage
by piping through
concrete, connect
to drain rock layer

underneath.

35

3/4

o

~—10" Min. Dia.
Recommended

Notes:

1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others.
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements.
3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension

is critical to your particular installation.

4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement.

/\// Opening window

a A
a
-3 .
AT 2
A
. <
. \ A
B <8 U
’ I e
S P
< A -
s A .
. 3 .
B . A a4
E IS
a Qe < .
. A i AN
A - EWN Q <
N o .
LA LA
. “a
R LA - ‘
< S < :
ANEN
s a A . 4
< < <a
. s
Qo A a <
: . A a
A a A QA N

New Concrete
Drainage
Grade

This edge flush to grade

10) Secure bollard cap

with 3/8" set screws
and cover set screws
with plastic plugs.

7) Align and insert lock
pin through bollard
base.

8) Turn bollard base
clockwise to tighten
it into position.

9) Fasten the padlock.

Tools needed:
1) Measuring tape

2) 3/16" hex key

General Description:

The R-7539-B Bike Bollard offers premium decorative
aesthetics and a fluted body. Bike-locking arms are bolted
internally to ensure secure storage for cyclists. Locking arms
can also be used to assist in removal and transport for
removable applications. R-7539-B Bike bollards feature a
decorative cast ductile iron assembly, powder coated in 1 of 6
custom colors for exceptional durability and corrosion
resistance. Reinforce bollards with embedded steel pipes or
select from a range of mounting options: surface or
embedded anchors or removable mountings.

Specifications:

Height: 35 3/4"
Base Diameter: 10 1/4"
Weight: 80 Ibs ( Bollard Only )
Material: Ductile Iron w/ Stainless Steel Bike Arms
Max. Interior Security Post Size:
3 1/2" x 25" (Diameter x Height)

Finish Options:
©® Polyester Powdercoated

See Reliance Foundry's standard color options at:
www.reliance-foundry.com/bollard/colors-bollards

Installation Options:

O Fixed - Anchor Casting in New Concrete
(see sheet 2 of 12)
O Fixed - Concrete Insert Anchor in Existing Concrete
(see sheet 3 of 12)
O Fixed - Adhesive Anchor in Existing Concrete
(see sheet 4 of 12)
O Fixed - Anchor Casting with Concrete Form
(see sheet 5 of 12)
O Post Cover - New Post in New Concrete
(see sheet 6 of 12)
O Post Cover - New Post in Existing Concrete
(see sheet 7 of 12)
O Post Cover - Existing Post with Adhesive Anchor
(see sheet 8 of 12)
O Post Cover - Existing Post with Concrete Anchor
(see sheet 9 of 12)
O Removable - Anchor Casting in New Concrete
(see sheet 10 of 12)
O Removable - Concrete Insert Anchor in Existing Concrete
(see sheet 11 of 12)
® Removable - Premium Retractable in New Concrete
(see sheet 12 of 12)

For more information on bollard post installation, please visit:
www.reliance-foundry.com/bollard/installation-bollards

Care and Maintenance:

Reliance's line of bollards are finished with a long-lasting
powder-coating. Proper care and maintenance are required.
Regularly-performed inspections and routine cleaning will
ensure that a bollard retains its aesthetic appeal and does not
become damaged by the elements.

See Reliance Foundry's maintenance guide at:
www.reliance-foundry.com/bollard/maintenance-bollards

RELIANCE FOUNDRY

SINCE 1925

Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada

PARTS LIST 1-877-789-3245 info@reliance-foundry.com
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT www.reliance-foundry.com
1 1 R7539B R7539 Base w/ Stainless Steel Bike Arms Ductile Iron Powder Coated 65 Ibs TITLE
2 1 R7539C R7539 Cap Ductile Iron Powder Coated 15 Ibs
3 1 R7000 R7000 Retractable Removable Mount w/ Spacer L Steel Hot Dip Galvanized 17 1/2 |bs BOI Ia rd R-7539-B
4 3 Hexagon Socket Set Screw 3/8" x 3/4" |Hexagon Socket Set Screw 3/8" x 3/4" - requires 3/16" hex key Stainless Steel
5 3 Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black
6 1 R7500 Lock Pin 3/4" x 10" R7500 Lock Pin 3/4" x 10" Steel Powder Coated 11/2 Ibs SIZE DWG NO REV
7 1 |Padlock (Optional) Optional Padlock (Brass or Stainless Steel) Choice of Brass or Stainless Steel 5/8 Ibs C R7539B 5
COPYRIGHT RESERVED  THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PROPERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 12 OF 12

4 |

3 i} 2

1




